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10 people celebrate their birthday on 15th and 20th of 5 months- January, March, April, June and 
November. R celebrates birthday after Q. L celebrates his birthday on 15th of the month which 
has 31 days. Exactly 2 persons celebrate their birthdays between that of L and P. Exactly 3 
persons celebrate birthday between that of P and O. M celebrate birthday just before T but not in 
June or November. Also, both M and T celebrate a birthday in the same month. The number of 
persons celebrating a birthday before O is same as the number of persons celebrating birthday 
after N. Both U and S celebrate a birthday in the same month and U celebrates a birthday before 
S.

5 महीने की 15 और 20 तारीख को 10 लोग अपना जन्मदिन मनाते हैं- जनवरी, मार्च, अप्रैल, जूनऔर
नवंबर। R, Q के बाि जन्मदिन मनाता है। L अपना जन्मदिन उस महीने की 15 तारीख को मनाता है जजसमें
31 दिन होते हैं। ठीक 2 व्यजतत L और P के बीर् अपना जन्मदिन मनाते हैं। ठीक 3 व्यजतत P और O के बीर्
जन्मदिन मनाते हैं। M, T से ठीक पहले जन्मदिन मनाते हैं लेककन जून या नवंबर में नहीं। साथ ही, M और T 
िोनों एक ही महीने में जन्मदिन मनाते हैं। O से पहले जन्मदिन मनाने वाले व्यजततयों की संख्या N के बाि
जन्मदिन मनाने वाले व्यजततयों की संख्या के समान है। U और S िोनों एक ही महीने में जन्मदिन मनाते हैं
और U, S से पहले जन्मदिन मनाते हैं।
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10 people celebrate their birthday on 15th 
and 20th of 5 months- January, March, 
April, June and November. R celebrates 
birthday after Q. L celebrates his birthday 
on 15th of the month which has 31 days. 
Exactly 2 persons celebrate their birthdays 
between that of L and P. Exactly 3 persons 
celebrate birthday between that of P and 
O. M celebrate birthday just before T but 
not in June or November. Also, both M 
and T celebrate a birthday in the same 
month. The number of persons 
celebrating a birthday before O is same as 
the number of persons celebrating 
birthday after N. Both U and S celebrate a 
birthday in the same month and U 
celebrates a birthday before S.
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21. Who celebrates a birthday on Apr 15th? 
15 अप्रैल को जन्मदिन कौन मनाता है?
A. M B. L C. P D. O E. R

22. Who celebrates a birthday just after R? 
R के ठीक बाि कौन जन्मदिन मनाता है?
A. L B. T C. N D. O E. M

23. Who celebrated her birthday before M? 
M से पहले ककसने अपना जन्मदिन मनाया?
A. Q B. R C. T D. O E. P
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24. How many people celebrated their birthday 
between Q and O?
Q और O के मध्य ककतने लोगों ने अपना 
जन्मदिन मनाया?
A. 4 B. 5 C. 6 D. 2 E. None

25. Who celebrated their birthday just before P? 
P के ठीक पहले ककसने अपना जन्मदिन मनाया?
A. N B. Q C. R D. O E. None of these
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There are five buses P, Q, R, S, T and they have different number 
of capacities not necessarily in the same order. 
• P has higher capacity than S and T. 
• R has less capacity than only Q.
• S carries more passengers than T.

. If R carry 62 Passengers then what would be 
the capacity of bus Q? यदि R 62 यात्रियों को ले 
जाता है, तो Q बस की क्षमता तया होगी?
A. 53 B. 24 C. 71 D. 49 E. None of these

• P की क्षमता S और T से अधिक है।
• R की क्षमता केवल Q से कम है।
• S, T से अधिक यात्रियों को वहन करता है।
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. Which bus has the least capacity? ककस बस 
की क्षमता सबसे कम है?
A. Q B. P C. R D. T E. None of these

. If P carry 25 passengers and T carry 9 
passengers then what would be the capacity of S 
which is divisible by 3 and not divisible by 5? यदि 
P 25 यात्रियों को ले जाता है और T 9 यात्रियों को 
ले जाता है, तो S की क्षमता तया होगी जो 3 से 
ववभाज्य है और 5 से ववभाज्य नहीं है?
A. 15 B. 18 C. 20 D. 27 E. None of these
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‘the capital of delhi ’ is coded as ‘jai veru miti viki’.
‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . 
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’. 
‘season for festival’ is coded as ‘nis, tif,vij’. 
‘delhi for country’ is coded as ‘viki, noo, tif’. 

. What is the code of ‘crowd’? 
A. miti B. sik C. dic D. tif E. None of 
these

. What can be the code of ‘festival in 
india’? 
A. vij, veru, zee 
B. vij, miti, zee 
C. vij, dic, sik
D. vij, dic, zee 
E. None of these

. What is the code for ‘festival 
in india crowd capital’? 
A. vij, dic, veru, sik, miti
B. vij, dic, jai, sik, miti
C. vij, dic, veru, sik, viki
D. vij, dic, mee, sik, tif
E. vij, dic, mee, sik, miti
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32. What is the code of ‘capital ’? 
A. ‘vik’ or ‘miti’ 
B. ‘veru’ or ‘miti’ 
C. ‘nic’ or ‘miti’ 
D. ‘vij’ or ‘dic’ 
E. None of these

33. If in a certain code language 
‘festival’ is coded as ‘vij’ and ‘in’ is 
coded as ’dic’ in same code 
language What will be the code of 
‘delhi ’ ?
A. viki B. nic C. sik
D. Can’t be determined 
E. None of these

‘the capital of delhi ’ is coded as ‘jai veru miti viki’.
‘many festival in delhi’ is coded as ‘viki, 
nic,dic,vij’ . 
‘crowd in the capital’ is coded as ‘dic, veru, miti, 
sik’. 
‘season for festival’ is coded as ‘nis, tif,vij’. 
‘delhi for country’ is coded as ‘viki, noo, tif’. 
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‘P # Q’ means ‘P is smaller than Q’.
‘P @ Q’ means ‘P is smaller than or equal to Q’.
‘P * Q’ means ‘P is greater than or equal to Q’.
‘P % Q’ means ‘P is equal to Q’.
‘P & Q’ means ‘P is greater than Q’.

Statements: I # A ; A & B & C* D@ E; B&F ;E#H ;G&D
Conclusions:
I. A&D
II. D#H
(a) Only I is true
(b) Only II is true
(c) Neither I nor II
(d) Either I or II is true
(e) Both I and II are true
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‘P # Q’ means ‘P is smaller than Q’.
‘P @ Q’ means ‘P is smaller than or equal to Q’.
‘P * Q’ means ‘P is greater than or equal to Q’.
‘P % Q’ means ‘P is equal to Q’.
‘P & Q’ means ‘P is greater than Q’.

Statements: S & R & L; L & M @ N * O % P & Q ; N # T
Conclusions:
I. T&Q
II. T%Q
(a) Both I and II are true
(b) Only I is true
(c) Only II is true
(d) Either I or II is true
(e) Neither I nor II true
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‘P # Q’ means ‘P is smaller than Q’.
‘P @ Q’ means ‘P is smaller than or equal to Q’.
‘P * Q’ means ‘P is greater than or equal to Q’.
‘P % Q’ means ‘P is equal to Q’.
‘P & Q’ means ‘P is greater than Q’.

Statements: V # P ; S % U ; W % R ; P & Q * R @ S % T
Conclusions:
I. T @ W
II. R* V
(a) Only I is true
(b) Only II is true
(c) Neither I nor II
(d) Either I or II is true
(e) Both I and II are true
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Eight persons A, B, C, D, E, F, G and H are 
sitting in a circular table. Some of them 
face towards the center and some of them 
face outside the center but not necessary 
in same order. G sits second to the right of 
D. Three persons sit between G and A. 
Immediate neighbor of E face opposite 
direction to each other’s. C sits second to 
the right of G. H sits second to the left of the 
one who is third to the left of G. F sits 
second to the left of H, who face inside. B 
does not sit opposite to H. F sits third to the 
right of C. C does not sit immediate left of E. 
The persons who face inside are more than 
the persons who face outside.

आठ व्यजतत A, B, C, D, E, F, G और H एक
वतृ्ताकार मेज पर बैठे हैं। उनमें से कुछ का मुख कें द्र
कीओर है और कुछ का मुख कें द्र के बाहर की ओर है
लेककनआवश्यक नहीं इसी क्रम में हो. G, D के िायें
से िसूरे स्थान पर बैठा है। G और A के बीर् तीन
व्यजतत बैठे हैं। E के ननकटतम पडोसी का मुख एक
िसूरे के ववपरीत दिशा की ओर है। C, G के िायें से
िसूरे स्थान पर बैठा है। H, G के बायें से तीसरे
स्थान पर बैठे व्यजतत के बायें से िसूरे स्थान पर
बैठा है। F, H के बायें से िसूरे स्थान पर बैठा है, 
जजसका मुख अंिर की ओर है। B, H के ववपरीत नहीं
बैठा है। F, C के िायें से तीसरे स्थान पर बैठा है। C, 
E के ठीक बायें नहीं बैठा है। अंिर की ओर उन्मुख
व्यजतत बाहर की ओर उन्मुख व्यजततयों से अधिक
हैं।
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Eight persons A, B, C, D, E, F, G and H are sitting in a 
circular table. Some of them face towards the center 
and some of them face outside the center but not 
necessary in same order. G sits second to the right of 
D. Three persons sit between G and A. Immediate 
neighbor of E face opposite direction to each other’s. 
C sits second to the right of G. H sits second to the 
left of the one who is third to the left of G. F sits 
second to the left of H, who face inside. B does not sit 
opposite to H. F sits third to the right of C. C does not 
sit immediate left of E. The persons who face inside 
are more than the persons who face outside.
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How many persons face inside?
(a) One
(b) Four
(c) More than Four
(d) Three
(e) None of these

Who among the following sits third to the right of H?
(a) C
(b) E
(c) B
(d) F
(e) None of these

Who among the following sits third to the right of D?
(a) E
(b) G
(c) H
(d) B
(e) None of these
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Four of the following five are alike in certain way 
based from a group, find the one that does Shot 
belong to that group?
(a) B
(b) A
(c) G
(d) H
(e) D

Who among the following sits third to the left of A?
(a) G
(b) F
(c) H
(d) C
(e) None of these
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Eight letters are arranged from left to 
right in such a manner to form a 
meaningful word. All letters are 
different. The word contains three 
vowels and five consonants.
Letter M is placed third from one of the 
ends. The word contains neither first 
vowel nor last vowel in the alphabetical 
series. Three letters are placed 
between M and S which is placed 
exactly between the two vowels but 
none of them is O. R is placed third to 
the right of O but not placed adjacent to 
M. P and R are placed adjacent to each 
other. The second consonant in the 
alphabetical series placed immediate 
left of one of the vowels.

एक अथचपूर्च शब्ि बनाने के ललएआठअक्षरों को
बाएं से िाएं इस प्रकार व्यवजस्थत ककया जाता है।
सभी अक्षर अलग हैं। इस शब्ि में तीन स्वरऔर
पांर् व्यंजन हैं।
अक्षर M एक छोर से तीसरे स्थान पर रखा गया है।
इस शब्ि में वर्चमाला श्ृंखला में न तो पहला स्वर
है और न ही अनंतम स्वर है। M और S के बीर् तीन
अक्षर रखे गए हैं जो िो स्वरों के ठीक बीर् में है
लेककन उनमें से कोई भी O नहीं है। R को O के िायें
से तीसरे स्थान पर रखा गया है लेककन M के
आसन्न नहीं रखा गया है। P और R एक िसूरे के
आसन्न रखे गए हैं। वर्चमाला श्ृंखला में िसूरा
व्यंजन स्वरों में से एक के ठीक बाएं रखा गया है।
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Eight letters are arranged from left to right in 
such a manner to form a meaningful word. All 
letters are different. The word contains three 
vowels and five consonants.
Letter M is placed third from one of the ends. 
The word contains neither first vowel nor last 
vowel in the alphabetical series. Three letters 
are placed between M and S which is placed 
exactly between the two vowels but none of 
them is O. R is placed third to the right of O but 
not placed adjacent to M. P and R are placed 
adjacent to each other. The second consonant 
in the alphabetical series placed immediate left 
of one of the vowels.
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Which of the following letter is placed fourth from the right end?
A.The letter which is 3rd to the right of O
B.U
C.The letter which is 2nd to the left of I
D.G
E.None of these

Which of the following letter is placed second to the right of 
the letter which is immediate left of P?
A.O
B.R
C.M
D.I
E.E
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In which of the following statement 3rd letter is placed exactly between 1stand 
2ndletter in the final arrangement?
I). PIR
II). CMO
III).ISE
A.Only II
B.Only I and II
C.Only III
D.All I, II and III
E.None of these

As many letters to the left of O is same as to the right of ______?
A.The letter which is immediate left of E
B.I
C.The letter which is second to the left of R
D.M
E.None of these
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a)IfOnly conclusion I follows.
b)If Only conclusion II follows.
c)If either conclusion I or II follows.
d)If Neither conclusion I nor II follows.
e)If both conclusions I and II follow.

Statement
Only a few officers are Manager
All Managers are General Manager
No Manager is Clerk
Conclusion
I). All General Managers are clerks
II). All Officers can be General Manager

Statement
Few Cycles are Bikes
No Bike is Car
All Cars are Vans
Conclusion
I). Some Bikes are Van is a 

possibility
II). All Cycle can be a Car
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If a four letter meaningful word can be formed by using the second, fourth, sixth and 
seventh letters of the word “JOURNAL” then what is the second letter from the left 
end of the newly formed word? Mark X as your answer if more than one word is 
formed. Mark Z if no meaningful word can be formed.

यदि शब्ि “जनचल” के िसूरे, र्ौथे, छठे और सातवें अक्षरों का उपयोग करके र्ार अक्षर का 
अथचपूर्च शब्ि बनाया जा सकता है, तो नए बने शब्ि के बाएं छोर से िसूरा अक्षर तया है? 
यदि एक से अधिक शब्ि बनते हैं तो X को अपने उत्तर के रूप में धर्जननत करें। यदि कोई 
साथचक शब्ि नहीं बनाया जा सकता है तो Z पर ननशान लगाएँ।

A.R
B.A
C.L
D.X
E.Z
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Point X is 20km north of point M which is 5km west of point G. Point Z is 
15km east of point P which is 7km west of R. Point Y is north of R and 
East of Point X. point P 28km south of point G. त्रबिं ुX, त्रबिं ुM के 20 ककमी उत्तर 
में है जो त्रबिं ुG के 5 ककमी पजश्र्म में है। त्रबिं ुZ, त्रबिं ुP के 15 ककमी पवूच में है जो R के 7 
ककमी पजश्र्म में है। त्रबिं ुY, R के उत्तर में और त्रबिं ुX के पूवच में है। त्रबिं ुP, त्रबिं ुG के 28 ककमी 
िक्षक्षर् में है। 

What is the direction of point G with respect to 
point R?
A.East
B.West
C.North-west
D.South
E.South-west
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What is the shortest distance between Points Z and X?
A.48 km
B.42 km
C.58 km
D.52 km
E.Can’t be determined

If Point L lies between the points Y and R and is to the east 
of Point G, then what is the distance between the points L 
and M?
A.22km
B.20km
C.15km
D.10km
E.12km
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